WS ToER (1R (552 4 1)
FET-F(%) SETAEBIEU(AN) SEBIE(N)
BEDEMIFEY 5 13.8 12 87
= 19.4 7 36
e 15.4 19 123
HEDEMHEY E:] 5.7 6 106
S 8.5 7 82
2 6.9 13 188
EEOESHEY ] 48 3 62
s 10.3 4 39
21K 6.9 7 101
SEXBLUMOE I EY E:] 68.4 26 38
S 50.0 11 22
21k 61.7 37 60
SMDHEE =] 23.1 6 26
= 20.0 2 10
21K 22.2 8 36
fifi 2% ] 11.0 20 181
£ 12.6 12 95
21K 11.6 32 276
TS =] 7.7 1 13
= 0.0 0 10
£ 43 1 23
[ EES 5 3.0 9 208
£ 45 9 200
21K 3.6 18 498
Fixd H it ;] 8.1 7 86
= 115 10 87
£ 9.8 17 173
FEPR IR 5 14 1 74
£ 2.0 1 51
21K 1.6 2 125
KEREHEREHT ] 11.8 4 34
= 0.0 0 104
£k 2.9 4 138
BiEE ] 0.0 0 14
£ 0.0 0 12
£k 0.0 0 26
LS PN 5 0.0 0 53
= 0.0 0 56
£k 0.0 0 109
SMHFEL 5 0.0 0 66
£ 0.0 0 46
£k 0.0 0 112
ERE E:] 0.8 1 121
= 1.1 1 88
2k 1.0 2 209
AT 3L AR AR KAE 5 0.0 0 29
£ N/A 0 0
21 0.0 0 29
BHHNE ] 0.0 0 95
S 0.0 0 151
2k 0.0 0 246
7 ] 0.0 0 10
£ 0.0 0 7
21 0.0 0 17
FEmME L N/A 0 0
S 0.0 0 24
21k 0.0 0 24
RIDAE 5 0.0 0 89
= 0.0 0 37
e 0.0 0 126
BRARURERSA ] 0.0 0 89
S 0.0 0 42
21k 0.0 0 131




BETEER) [E2MmFH) 2021/07/15

FET-F(%) FETEBIE(A) fiEfFIER(N)
AEOEEHFEY E] N/A 0 0
= 135 5 37
e 135 5 37
FRBEETAE ] 0.0 0 17
= 0.0 0 52
21 0.0 0 69
BEAIZT 5 0.0 0 118
= 0.0 0 10
24K 0.0 0 128




